IGNITIONCOIL COMPARISON

ByDaveFiedler

TransistorIgnitionVersusBreaker PointIgnition

Beforediscussingcoil differences, it is importantto understandthe basic operationof anignitioncoil. The functionof anyignitioncoil is to converta lowvoltage (12 volts or less)intoa
voltage highenough(25,000plusvolts) to jumpthe spark plug gap andignite the fuel-air mixturein the engine cylinder. It performsthis function by makinguse of the principle of induction.
Theinternalsof a coil consistof primaryand secondarywindingsof wire coiled arounda vertically mountedsoft-iron core. Becauseof the ratio of primaryto secondarywindings,a small
inputvoltageis transformedinto a very large output voltage. One of the differencesbetweena conventional breakerpoint-style coil and a Transistor Ignition (TI) coil is the ratio of these
windings.A Tl coil useshigherratiowhencomparedto a conventional coil. In addition, the Tl coil useslarger diameterwirein the primarywindingwhich decreasesthe resistanceand
allowsthe coil to operateat highercurrentlevels (approximately 7.5 amps). This high currentenhancesthe coil's ability to producea high outputvoltage.

Animportantpointto rememberis a conventional pointstyle ignitionsystemis currentlimited due to breakerpointlife, wherea Tl systemis voltagedimiteddue to the electrical
componentsusedin amplifier construction.

A coilintendedfor breaker pointusagewill notworkin a Tl Systemfor two reasons.

® Oneistheturnratio-- dueto the factthata Tl systemoperatesat lowervoltage(2.5-7.0volts) thereis notenough”stepup” capabilitiesin a conventional coil becauseof a

relativelylowturnratio.
® Theotheris the operatingcurrent-- a conventional coil has high primarywinding resistancein orderto control breaker point currentto a value of approximately4 amps.When

this low currentis combinedwith the lowturnsratio of a point-style coil, the resultis a substantial reductionin outputvoltagein a Tl circuit.

Next, | wouldlike to reviewGM part numbersversususage. Therewere eight (8) different GM part numbersassignedto Corvette Tl coils from 19641971 (seéApplicationLis)). The
differenceelectrically betweenthese part numbersis smallto virtually unmeasurable. Therefore, essentially any Tl coil will workin any Tl application. The only physical difference, other
thanthe embossednumbers(the last three digits of the sevendigit GM part number), wasthe font of the DelcoRemytrademarkof whichthere are numerousstyles (thereis no known
documentationto clarify this detail) anda small towerchange. On 1964/1965coils (1115176,1115203and early 1115207,1115210)there werefour (4) holes, two eachflankingthe
primaryterminal studs. Theseholeswere usedto trap a tangedlock:washer. The use of these holesandthe correspondingwasherwas discontinuedin 1965.

Eventhoughtherewere eight part humbersusedto coverthe range of Tl coil applications, only one numberwasavailablefor service. The other sevenpart numberswere usedon the
productionline only and were never offeredas servicereplacementcoils.

The coil offeredfor servicewas 1115207 and consequentlythe only coil likely to be foundin NOScondition. This coil camein three versions. The early one had the 207 numberembossed
in the case. The nextversionhad the entire sevendigit GMpart numberstenciledin boldwhite numeralson the case. Thelast versionwasmadein Japanand canbe identifiedby fine
stencilednumerals(sevendigit GM part number) and by a differentcoil tower. Thereare also somereplacementcoils availablewhich duplicate the intemals of an original T1 coil. These
coils are functionally correctbut not technically correctbecausethey have no embossment.

Currently, GMlists a coil for usewith TI (GMpart number12337166), but | stronglyrecommendnottryingto useit. | havereceivedmanycalls from Corvetteenthusiastsrelatingthe
problemsthey are havingwhenattemptingto use whatis actually a breakerpointcoil.

In summary,whenit comesto Transistor Ignition, thereis a distinctdifferencebetweena Tl coil and a coil for any other use. A Tl coil can be checkedandidentifiedelectricallywith the use
of anohmmeter. To dothis, checkthe resistancebetweenthe two primaryterminals (positiveto negative). If it's a Tl coil, the results should be as follows (publishedresistance, at 75-
degreesF):

Primaryto Primary........... 0.410.510hms

Conventionalpointstyle coils shouldread:

Primaryto Primary........... 1.24-1.46o0hms

DaveFiedler
Owner, T.1. Specialty
1631 PheasantRun
Richmond,Indiana47374
Phone:1(765)962-4265
Hours: 10 AMto 6 PMEST
Email:info@tispecialty.com



